— B4 FETHH —

= PEIFEIRR

T 5 £ 3 ARKROBIOFEHITIRRREICDONT
HBHSBULET,

— iR =Et FEE L1
FE2 7318 1,170 5

el =1

INAEZE 6512 5,191 A IRAZIE 89.6%
32088,84255M
%33{%9,@Fq OF &8 %
O IRA %8
30
20(8 [ 15(85,0955M
[ 12{86.2785M
[ 8485,2945M
108 [ 887,125/ ] 6 /82,5905 ) a5 20075
O ﬁ 1405 % iﬁ? 000753 % 5{{:; 10078 [ 414,382
H5ATHR @ '-ri.':l:'.ﬁ BT % 8] & HE  HERXHGE Zofth

FEE73E 1,170 50  HHEES81E6.264 50 XS 80.2%

20=

[117486.12558
[ 13f85,39458

[ 144%1,2555M
[J10681,2695M7] 11489,118 58

OF &8 &
O xiEE

] 11489255

[111483,1995M8 [] 9184,562/M
108 []7183,73158
O 71’*3 6805 [ 57,1505 [ 5@2,86655M0
W 1f”9 7395 [ 4188,4215M
“"Raem  mEm  @an tA® | Z0ft
HRIREt FPEEEEHITEIS BIE% =
E IR ASKSE FHESE B £ &
- = — M 2 = | 53{26,694 A0
NEEBR | 175987 F 15{“4’9(22@2 151’“‘1’5(22715;3 T KX & | 19@5121 5@
: ; =pohRmk | 168 4,800 HE
. 1148 4,601 5M| 111 7,136 5 B 5 K& 15415 5
& 3826 KM (88.1%) (90.1%) = % | 91{22,030 5
_ I+ =
. . 3,152 /M@ 149,129 5@ 'ﬁaﬁ%ﬁ
= P PIRME 425,000 F1
wEmE | 1masypm | ROOSCTH 1RASIITH BE2RE
2%) (99.9%) Ry N
: 1,387 A 3,660 5 HiEE S 7 128,907 A
= KE 6.450 5F3 (21.5%) 567%)| | HBEEES | 6/ 7646 O
S P— ove | [PEEREEEEES 3 88,138 H@
e : : g RS 2882 A
= EEE 3:585 HH (88.9%) (82.5%)| | pttfrreEEe 2 &M
SHIE=FRERS| 189,382 H
INREVINAERE eI HESR HERERES 4,358 A/
(FA) BITHY AT LEAES 3,996 AW
20153780 5@ 19187.663 M| 165455 5m| |[EERBEISHIFER 3,517 5@
—Eohspis B3, R 7, ! =5, ) BRIEERS :

ST (97.0%) SN 2,385 55
5 % | 258921158

5% '.':‘/;6)«?



